
nb final state definition event yield
1 2 same-sign leptons 0 jets, MT > 100 GeV and Emiss

T > 140 GeV 12 ± 3 13
2 2 same-sign leptons 1 jets, MT < 100 GeV, p``T < 100 GeV and Emiss

T > 200 GeV 18 ± 4 18
3 3 light leptons MT > 120 GeV and Emiss

T > 200 GeV 19 ± 4 19
4 3 light leptons Emiss

T > 250 GeV 142 ± 34 128
5 2 light leptons and 1 tau MT2(`1, τ) > 50 GeV and Emiss

T > 200 GeV 22 ± 5 18
6 1 light lepton and 2 taus MT2(`, τ1) > 50 GeV and Emiss

T > 200 GeV 1.2 ± 0.6 2
7 1 light lepton and 2 taus Emiss

T > 75 GeV 109 ± 28 82
8 more than 3 leptons Emiss

T > 200 GeV 197 ± 42 166


